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Please check whether you have got the right question paper.

1) All questions are compulsory

2) Use black or blue pen only

3) Use Pencil for diagrams

4) Use of any signs, attracting attention is prohibited

?) Td T2T TS0 3aTs 31g
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A) Fill in the blanks ( attempt all )

4) Mod is denoted by ------ Letter.
5) ---—---- is the formula of index number given by Laspeyres.

B) Answer in a sentence ( attempt all )

1) State the definition of tabulation

2) Write down the formula Arithmetic mean.

3) ‘What is meant by continuous series

4) Write down the formula of passche’s Index number

5) Correlation coefficient is denoted by which English Letter.
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Q.2 A) Explain concept / terms / units/ events (.any two)
(word limitation minimum 60 for each answer)
1) Concepts of dispersions
2) Base year
3) Calculate the mean from the following data.

Wages | 252 230 240 220 250
F 1 2 3 4 5
Calculate the mode from the following data
X 10-20 | 20-30 | 30-40 | 40-50
Y 9 15 30 18
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B) Attempt in short (any two )

(word limitation minimum 60 for each answer)

1)  Explain the merits of mean Deviation
2) Explain the demerits of range

3) Find out the median from the following data.
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0-10 | 10-20 | 20-30 | 30-40

40-50

50-60

X
Y

6 14 19 21

20

10

4) Find out the standard Deviation from the following data.

X 55-65 | 65-75 | 75-85 | 85-95 | 95-105 | 105-115 | 115-125
Y 2 7 14 20 15 10 12
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Answer in detail (‘any one)
(word limitation minimum 200 for each answer)

1) What is correlation of co- efficient? explain the properties of correlation of

co- efficient
2) Find the Fisher’s ideal index number from the following data
Good | Base year Current year
A 8 9 7 12
B 5 6 4 7
C 6 4 5 4
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A 8 9 7 12
B 5 6 4 7
C 6 4 5 4
4
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